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cx=BR| o AH2 S22 1,304,179 905,419 398,760
101 I2AH] 18,932 23,088 A4, 156




A SR
M SHD(2ELX|ATNL/AXH)
crel: sEIE (Crol:x2l)
% PSIE
SA - FB . EI(BH) - HRAY - BES ol &k iy lmE=T
04 P22 RS 2 18,032 23,088 4,156
HTCH =W BIEA 22| 0129l
78,880 21%324 802 18,932
201 2LBr=29| 212,487 58,940 153,547
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3,000,0002 14! 3,000
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SN B O(3H) - MBEAR - BAS Ofl ko e MMimE="
Al 1,921,875
401 AIEHIZL 204 20,831,411 20,831,411
= 16,987,658
= 1,921,878
Al 1,921,875
01 AlEH]| 20,831,411 20,831,411
OXIAAGHE INEERAIS
6,070,000,000&! 14! 6,070,000
= 4,949,979
= 560,010
Al 560,011
O28H HEASIA o222 A
3,852,713,000&! 14! 3,852,713
= 3,141,821
= 355,446
Al 355,446
OZ28H Ciei=A0tE o222 AL
2,433,834, 000& 14! 2,433,834
= 1,984,749
o= 224,543
Al 224,542
OttatH KAZEAGIE o222 AL
2,515,122, 000& x 14! 2,515,122
= 2,051,038
& 232,042
Al 232,042
OEJ g H4EZBA0HA o222 A
1,057,346,000& 14! 1,057,346
= 862,247
& 97,549
Al 97,550
OO0|AHH EFZAGIAE Q) 42004 o222 AH
4,902,396, 000& 14! 4,902,3%
= 3,997,824
& 452,288
Al 452,284
(2)MIE SHERAS 175,310 175,310
= 110,614
& 32,348
Al 32,348
401 AIEHIZL 204 175,310 175,310
= 110,614
= 32,348
Al 32,348
01 Al&EH]| 175,310 175,310




FA: ot
M THoH 2 (SSEMLUHN /THHET - elEke])

&2l S EH CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
O==9 HF2| 1673 M& =oi=23A
83,943,0002 14! 83,943
= 52,965
= 15,489
Al 15,489
OS8H &=L 223-3HX NAE =723 A
91,367,000 *14] 91,367
= 57,649
= 16,859
Al 16,859
(2)ADIEHSZCIAAADSAIS 70,000 0 70,000
= 35,000
= 10,500
Al 24,500
401 A EBIZ 20| 70,000 0 70,000
= 35,000
& 10,500
Al 24,500
01 Al&H| 70,000 0 70,000
OJYA0HE ADEAHSZCIAIAE 2F AL
70,000,000 %14 70,000
= 35,000
& 10,500
Al 24,500
HY2HAY| (o= ) (DIEHDJIEH 89,580 87,240 2,340
Jl2&| 89,580 87,240 2,340
J|12&l 89,580 87,240 2,340
201 LE23H| 25,380 23,040 2,340
01 At22t2ld| 25,380 23,040 2,340
O=AMEX 72 20,0002+ 158+ Ax 122l 3,600
OSZ20Hald] 8,000 *7Alx 153 x 122 10,080
Ogetrz2 100,000 * 12 1,200
OARZ TARYH 50,0002* 12 600
OAAR =4l 8,100
—Z2ADI(HE) %2 1,000,000+ 1CH 1,000
— el =2 100, 00024 *4CH*50% 200
—=SAD| EYH 200,0002 %53 1CH 1,000
—IEIE(EY) £
200,000 *53|*4CH 4,000
—ZRIE(22) Ed
200,000 %53+ 1CH 1,000
—PC==cl 100,000 * 15CH*20% 300
—JIEt ==2ldl 50,0002 *12& 600
OJIEt AFR2e|d] 10,0002 * 1512 1,800




S GHE
M HHSAHAHI(SHED) (JIEHIIE
S =2l (Crol: z2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
202 Ot 59,400 59,400
NENEL 59,400 59,400
OZ2Liodsl 20,0000+ 15H* 122U+ 128 43,200
OZ2| 048] 120,00021% 1529 16,200
203 LREEH| 3,600 3,600
04 RA2IYRETH| 3,600 3,600 0
ORNSZHRFEH| 300,000 %12 3,600
204 Z 24| 1,200 1,200 0
01 ZHZ AR AH| 1,200 1,200 0
OZIZARABH A (G A WA
100,00024* 1122 1,200
WSS (SHE ) (Z2E M LA/ THLHTY - DIEte]) 542,620 277,000 265,620
ESENES 542,620 277,000 265,620
LHEHeH K= 542,620 277,000 265,620
701 JIEIBIHSHES 542,620 277,000 265,620
01 JIEEHEES 542,620 277,000 265,620
OXIS=AIASE3|H &E 542,620
—CHIEEAR0 M2 AlHl 2g= 542,620
I8N HHIA
10,000,000 %14 10,000
- XI5He 2282 L HHIA
20,000,000 * 14! 20,000
4 XES MHAIY
100,000,000 %14 100,000
S SRS LAY
70,000,000 % 14! 70,000
-HeQ 222 SS0I2 FoHH SHETA
280,000,000 * 14! 280,000
SHEZIAl HRIHE 0]
62,620,000 % 14! 62,620




